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10.4 Solving Two Step Equations a(x+b)=c

Solving equations is done in reverse order of operations
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What steps do you think were done to x to turn it in 4(x + 3)? @ koD (TroV % SuBTrACTION,
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Solve the following:
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How Would you verify that x = -1 is the solution for 5(x+3)=10?
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A square picture is framed with a border that is 3cm wide. If the total perimeter of
the picture and frame is 480cm, what is the length of one side of the picture?
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The distributive property is another way to find the product of a number and a sum:

Ve Bl
O—K(EI_*\,C) Z 4 (10+ Y, ,\’/;JV"""ZO
ab+c)= ab + ac (a.ab) + (a,x(,) _ el D

at, + ac

1

0 ‘,s&
oeh
Use the distributive property to rewrite the expressions without brackefs: g1 "{6,,,‘1/\’"
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It often helps to think of subtraction as being "adding a negative”
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Solve the equations using reverse order of operations:
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Solve each equation using the distributive property:
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